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INSTRUCTIONS TO CANDIDATES : 

Max. Marks : 60 

 1. 

2. 
3. 
4. 

SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each. 
SECTION-B consists of FOUR Sub-sections : Units-I, II, III & IV. 
Each Sub-section contains TWO questions each, carrying TEN marks each. 
Student has to attempt any ONE question from each Sub-section. 

 1. Answer briefly : 

a) What are the main objectives of a firm?

b) What do you mean by industrialisation?

c) What is profit maximisation theory of August Losch?

d) What type of industries would develop first during the process of industrialisation?

e) What are the factors against industrial development?

f) What is the role of planning in industrialisation?

g) What measures would you suggest to promote industrial productivity in India?

h) What makes a company a multinational corporation?

i) What are the benefits of FDI?

j) Enlist objectives of Environment (Protection) Act, 1986.

SECTION-A 
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UNIT-II 

UNIT-IV 

UNIT-III 

SECTION-B 

UNIT-I 

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any 
page of Answer Sheet will lead to UMC against the Student. 

 2.

3. 

 4. 

 5. 

 6.

7. 

 8.

9. 

Explain the performance of public sector enterprises in India.

Evaluate industrial policy of 1977. 

Discuss the relationship between the size of a firm and its performance.

Describe the role of industries in economic development of a country. 

Are economic growth and industrialisation generating income inequalities? Discuss.

Describe Cheney's pattern of industrial growth. 

Explain Sargant Florence theory of location. How is it an improvement over Weber's
theory? 

Discuss government policy and recent programme for development of backward regions 
in India. 


